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BRI 3,995, 043
B ES Y 3,995, 043
B ES Y 3,995, 043
EY) i 3,831, 380
REtETE 117, 400
1-1 ER&tatE 1.00 117, 400 117, 400
=
EY) 3,248, 980
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1-4 X[EYIERDEHR 1.00 84,780 84,780
5z
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1-5 1% - |E 5.00 72,900 364, 500
]
RE 100, 500
1-6 B& 1.00 100, 500 100, 500
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EERE 163, 663
EHARE 33, 663
-1 EBRAGE 1.00 33, 663 33, 663
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% R Mg - KT BfL % B B ' # B =
R 130, 000
1-8 RBEHMER 1.00 130, 000 130, 000
=
ERIEE 835, 900
BEXR 835, 900
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BEXR 835, 900
Bk iRAIE 835, 900
2-1 gk#t 5.00 167, 180 835, 900
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£ [} R - BT Bifs 2 i ® & i

BRI 3,831,380 + 163, 663 3,995, 043
EEAGE 3,831,380
EERE 163, 663
Z Ot R{E 3,831,380 x 53.85% ( 35% = (1 — 35%) ) 2,063, 198
R 3,995,043 + 2,063,198 6, 058, 241
—REEREFE 6,058,241 x 53.85% ( 35% + (1 — 35%) ) — 603 3,261,759
e 6,058,241 + 3,261,759 9,320, 000
EENEE 835, 900
HRE 835,900 x 86.3% — 7,281 714,100
REREE 835,900 + 714,100 1,550, 000
B8 AR 1,550, 000
BEHEIE 9,320,000 + 1,550,000 10, 870, 000
HEREHELE 10,870,000 x 10.00% 1,087, 000
FATIEE 11,957, 000
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Wil

BHSEERN EBFEREHEHRE

&H5 11
2% EHARE 1Ky
2 Lo R - KT By = B ff | # H %
EXRARE
= 1.00 33, 663.00 33, 663
& it EZBER - 1.00= 33, 663. 00 33, 663
&5 :1-8
2 EBHRSR 1KY
2 Lo R - KT By = B ff o # w %
(BHRERE
= 1.00 130, 000. 00 130, 000
& it 1EZBER - 1.00 130, 000. 00 130, 000
H5:2-1
& Kk UEGIER,
2 Lo R - KT By = B ff | # w %
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A 1.40 44, 000. 00 61, 600
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